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SECTION - A 10x2=20

Note: (i Answer ANY TEN questions. (ii) Each question carries TWO marks.
Sredden: (1) DI B0 BHoH JSrEEEEmen (EPainsm. (i) B8 (85 o ENVlev)IoN
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10.

What is meant by Estimation?
aggzﬁmﬁ OSPID?
Write the units for the following

a) R.C.C b) Flooring
& (800 B8 o) (@ecinaim.
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Write the units for the following
a) Plastering b) Doors
& (800 &8 ey (@ecinaim.
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What are stages for preparation of an estimate?
RS BB Koo (FBD) HE?

Write the tabular form for the detailed estimate.
DIBe &S oS &%0 DG BrarQ) [@easnsde.

What are the steps involved in finding the cost of the building?
£oh @) 570 ELP0eE® BB ) EA?
Define specification.

?oo)‘z”o%a_ssﬁﬁ‘\)éa QED0YE.

What is the cost of materials at the site?

= o5 DHODHS) A & 5 OBTERL?

Define standard schedule of rates.

acgoc‘éé E’q&é:véé 3&'5:) (DR. DR, 6% QEIDOYa.

What is a lead statement.

OF 05 XTPRD?
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12.
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15.

List out the various types of engineering works involving earthwork.
A $5S° w0l DR Tsre moBIBOR $8)) HE)S0E.
Define banking and cutting.
e5080h B E&OR% ABDOLH.
What is the formula for calculating the side slope area?
8 o 2B BEBEREDH rBo d&?
What is the structure of a road ?
56 @) Qo%eastn IE?
Mention the various parts of a gravel road.
IS 85638 SoE) DA PP Bensim.
SECTION - B 5x6=30

Note: (i) Answer ANY FIVE questions. (ii) Each question carries SIX marks.
Sesden: (i) DI 0k (DEB J3rerdsnen (@Pciom. (ii) (B8 D& et s

16.
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18.

Describe the various types of preliminary estimates.

DG Esro (@08 woSTed (ROWBO jebe5) Do,

Explain about data required for preparing an estimate.

SO IATIINY) (a?egfbeg) ?ocgof)o&méb% 9SER TPl HB0S-.

Calculate the quantity of following items by long wall and short wall
method for the building shown in figure below

a) CC bed in foundation b) RR Masonry in foundation and plinth
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Specifications:- Door Size: 1.2x2.1m, Window Size: 1.2x1.2m, Lintel
Thickness : 0.15m




19. Calculate the quantity of following items by Centre line method for
the building shown in figure below

a) DPC b) Brick masonry in superstructure
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(@) &.3.. ®) 88 b a8 éﬁéE@%S
BT mve o
= = e e
| 2|

: .
A B N :
LN H 7 X 55m H 7
: |
T [ T - R Y 52
; 7
/‘;99‘4/ b [35em

‘\F‘rQ S
[ £ 4\:>.‘A < 4| e
l:—# D { 3 T
Jre Agee| | | H—l.zm__%
Bids ol i s
Peand SECTION AT A-R
Doo@ - .o x 2.0 v

Window ~ 1.2 X L. 2wn
20. Calculate the quantity of following items by long wall and short wall
method for the building shown in figure below
a) Earthwork in excavation b) RR Masonry in foundation
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22.

23.

24.

Estimate the quantity of the following items for the compound wall
of length 20m shown in figure.

a) Earthwork in excavation b) Cement Concrete in foundation

c) RR masonry in foundation

20m SR Ko P00 S HeEKHE LB BINS & &wé&sgoé%é% Eo8ho8.
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SECTION

Write the specifications for the following

(a) Earthwork in excavation, (b) Cement concrete in foundation,
&s (8o BB RJSHR) ([E°0H03w.
(D) ABHE), &S AEBIAS @) 2Fbot5 oldes Bl ForNS

Write the specifications for the following

(a) Random Rubble masonry (b) Brick masonry

Si(Bob BB VRJBAT) (e

(D) eb.e56. YD ®) 85 D

The formation width of a road embankment is 30 m. The side slopes
are 2:1, the depths are along the center line of road at 40 m intervals
are 1.25, 1.28, 1.50, 1.59, 1.72, 1.91 and 1.96m. Calculate the
quantity of earth work by (a) Trapezoidal rule (b) Prismoidal rule
o8 & oeroEols 30m Jkenys® 2:1 & P EDAH0H. 40m 083 SE
068 88 @8 1.25, 1.28, 1.50, 1.59, 1.72, 1.91 L8ci» 1.96m ®onds® 9858)
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25.

Prepare a detailed estimate for the construction of one kilometer
length over a formation of an embankment. The formation width is
10.0 m, the average height of the bank is 1m, and side slope is 2:1.
The metalled width is 4.0 m. and three coats of metalling are to be
provided. Soling coat of 15 cm. boulders, inter coat and top coats of
12 cm loose compacted to 8 cm thick. Wearing coat of gravel 5 cm
thick.
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